

APPLICATION OF GROUP THEORY TO GENERATING RELATIONS FOR SPECIAL FUNCTIONS.

B. C. CHANDRA, S. ALAM AND A. K. CHONGDAR

ABSTRACT. In this article, we have suggested a unified group theoretic method of obtaining a general class of generating relations involving various special functions from the existence of their partial quasi-bilateral (or bilinear) generating relations from the group theoretic point of view. The detail discussion of the method of obtaining generating function has been given in this paper and finally we obtain a theorem in connection with the unification of a class of generating relations involving some special functions. Furthermore, a good number of theorems and results on generating functions involving various special functions have been obtained in course of application of our main result (Theorem-1) obtained in the present investigation.

1. INTRODUCTION

In [1], partial quasi-bilateral generating function is defined as follows:

$$G(x, z, w) = \sum_{n=0}^{\infty} a_n p_{n+r}^{(\alpha)}(x) q_m^{(n+r)}(z) w^n,$$

where $p_{n+r}^{(\alpha)}(x)$ and $q_m^{(n+r)}(z)$ are two special functions of orders $(n+r)$, m and of parameters α and $(n+r)$.

In the present article, we have proved a general theorem in connection with the unification of a class of generating relations for various special functions from the existence of a partial quasi-bilateral generating function by using the concept of one-parameter group of continuous transformations. We have obtained the following theorem as the main result of our investigation.

Theorem-1: If

$$G(x, u, w) = \sum_{n=0}^{\infty} a_n p_{n+r}^{(\alpha)}(x) q_m^{(n+r)}(u) w^n, \quad (1.1)$$

2000 *Mathematics Subject Classification.* 33C45 .

Key words and phrases. Partial quasi-bilateral generating function, Laguerre polynomials, Bessel polynomials, Gegenbauer polynomials, Jacobi polynomials.

©2013 Ilirias Publications, Prishtinë, Kosovë.

Submitted March 12, 2012. Published September 2, 2013.

then

$$\begin{aligned} \Omega'_r(x, 1, 1) \Omega''_r(u, 1) \left\{ h_1(x, 1, 1) \right\}^\alpha G\left(g_1(x, 1, 1), g_2(u, 1), wvh_2(u, 1)k(x, 1, 1) \right) \\ = \sum_{n=0}^{\infty} \sum_{p=0}^{\infty} \sum_{q=0}^{\infty} a_n v^n \frac{w^{p+q+n}}{p! q!} C_{1,r} C_{2,r} p_{n+r+p}^{(\alpha-p)}(x) q_m^{n+r+q}(u). \end{aligned} \quad (1.2)$$

Here, we would like to mention that in course of application of the result stated in Theorem-1, we have obtained the extensions of the quasi-bilinear generating functions involving Laguerre, Bessel, Gegenbauer and Jacobi polynomials. Furthermore, these quasi-bilinear generating relations, obtained in Cor.2 - Cor.6 as particular cases of Theorem-2 - Theorem-6, are the extensions of the corresponding bilateral generating functions found derived in [2,3,4,5,6].

2. GROUP THEORETIC DISCUSSION

We first consider the partial quasi-bilateral generating relation:

$$G(x, u, w) = \sum_{n=0}^{\infty} a_n p_{n+r}^{(\alpha)}(x) q_m^{(n+r)}(u) w^n. \quad (2.1)$$

Now replacing w by $wztv$ in (2.1) and then multiplying both sides by y^α , we get

$$y^\alpha G(x, u, wztv) = \sum_{n=0}^{\infty} a_n \left(p_{n+r}^{(\alpha)}(x) y^\alpha z^n \right) \left(q_m^{(n+r)}(u) t^n \right) \left(vw \right)^n. \quad (2.2)$$

At first we suppose that for the special functions $p_{n+r}^{(\alpha)}(x)$ and $q_m^{(n+r)}(u)$, it is possible to find the following linear partial differential operators each of which generates one parameter group of continuous transformations:

$$\begin{cases} R_1 = \xi_1(x, y, z) \frac{\partial}{\partial x} + \xi_2(x, y, z) \frac{\partial}{\partial y} + \xi_3(x, y, z) \frac{\partial}{\partial z} + \xi_0(x, y, z) \\ R_2 = \eta_1(u, t) \frac{\partial}{\partial u} + \eta_2(u, t) \frac{\partial}{\partial t} + \eta_0(u, t) \end{cases}$$

such that

$$R_1 \left(p_{n+r}^{(\alpha)}(x) y^\alpha z^n \right) = C'_{n,r} p_{n+r+1}^{(\alpha-1)}(x) y^{\alpha-1} z^{n+1} \quad (2.3)$$

and

$$R_2 \left(q_m^{(n+r)}(u) t^n \right) = C''_{n,r} q_m^{(n+r+1)}(u) t^{n+1}. \quad (2.4)$$

We now assume that the groups generated by R_1 and R_2 are

$$e^{wR_1} f(x, y, z) = \Omega'_r(x, y, z) f\left(g_1(x, y, z), h_1(x, y, z), k(x, y, z) \right) \quad (2.5)$$

and

$$e^{wR_2} f(u, t) = \Omega_r''(u, t) f\left(g_2(u, t), h_2(u, t)\right). \quad (2.6)$$

Operating $e^{wR_1} e^{wR_2}$ on both sides of (2.2) we get,

$$\begin{aligned} & e^{wR_1} e^{wR_2} \left(y^\alpha G(x, u, wztv) \right) \\ &= e^{wR_1} e^{wR_2} \sum_{n=0}^{\infty} a_n \left(p_{n+r}^{(\alpha)}(x) y^\alpha z^n \right) \left(q_m^{(n+r)}(u) t^n \right) \left(vw \right)^n. \end{aligned} \quad (2.7)$$

The left hand side of (2.7), with the help of (2.5) & (2.6), reduces to

$$\Omega_r'(x, y, z) \Omega_r''(u, t) \{h_1(x, y, z)\}^\alpha G\left(g_1(x, y, z), g_2(u, t), wvh_2(u, t)k(x, y, t)\right). \quad (2.8)$$

The right hand side of (2.7), with the help of (2.3) & (2.4), becomes

$$\begin{aligned} & \sum_{n=0}^{\infty} \sum_{p=0}^{\infty} \sum_{q=0}^{\infty} a_n v^n \frac{w^{p+q+n}}{p! q!} C'_{n, r} C'_{n+1, r} C'_{n+2, r} \dots C'_{n+p-1, r} p_{n+p+r}^{(\alpha-p)} y^{(\alpha-p)} \\ & \times z^{(n+r)} C''_{n, r} C''_{n+1, r} C''_{n+2, r} \dots C''_{n+q-1, r} q_m^{(n+q+r)}(u) t^{n+q}. \end{aligned} \quad (2.9)$$

Equating (2.8) & (2.9) and then putting $y = z = t = 1$, we get

$$\begin{aligned} & \Omega_r'(x, 1, 1) \Omega_r''(u, 1) \left(h_1(x, 1, 1) \right)^\alpha G\left(g_1(x, 1, 1), g_2(u, 1), wvh_2(u, 1)k(x, 1, 1)\right) \\ &= \sum_{n=0}^{\infty} \sum_{p=0}^{\infty} \sum_{q=0}^{\infty} a_n v^n \frac{w^{p+q+n}}{p! q!} C_{1, r} C_{2, r} p_{n+r+p}^{(\alpha-p)}(x) q_m^{n+r+q}(u), \end{aligned}$$

where $C_{1, r} = \prod_{i=0}^{p-1} C'_{n+i, r}$ and $C_{2, r} = \prod_{i=0}^{q-1} C''_{n+i, r}$.

Hence we get the following theorem:

Theorem-1: If

$$G(x, u, w) = \sum_{n=0}^{\infty} a_n p_{n+r}^{(\alpha)}(x) q_m^{(n+r)}(u) w^n,$$

then

$$\Omega_r'(x, 1, 1) \Omega_r''(u, 1) \left\{ h_1(x, 1, 1) \right\}^\alpha G\left(g_1(x, 1, 1), g_2(u, 1), wvh_2(u, 1)k(x, 1, 1)\right)$$

$$= \sum_{n=0}^{\infty} \sum_{p=0}^{\infty} \sum_{q=0}^{\infty} a_n v^n \frac{w^{p+q+n}}{p! q!} C_{1,r} C_{2,r} p_{n+r+p}^{(\alpha-p)}(x) q_m^{n+r+q}(u),$$

where $C_{1,r} = \prod_{i=0}^{p-1} C'_{n+i,r}$ and $C_{2,r} = \prod_{i=0}^{q-1} C''_{n+i,r}$, which does not seem to have appeared in the earlier investigations.

Cor 1: If we put $r=0$ in theorem-1, we immediately get the result in connection with the unification of quasi-bilateral generating relations involving various special functions found derived in [7].

3. APPLICATIONS

3.1. Laguerre Polynomial. At first we take

$$p_{n+r}^{(\alpha)}(x) = L_{n+r}^{(\alpha)}(x), \quad q_m^{(n+r)}(u) = L_m^{(n+r)}(u)$$

Then from [8,9], we get

$$\begin{array}{ll} R_1 = xy^{-1}z \frac{\partial}{\partial x} + z \frac{\partial}{\partial y} - xy^{-1}z & R_2 = t \frac{\partial}{\partial u} - t \\ C'_{n,r} = (r+n+1) & C''_{n,r} = (-1) \\ \Omega'_r(x,y,z) = \exp(-wxy^{-1}z) & \Omega''_r(u,t) = \exp(-wt) \\ g_1(x,y,z) = x(1+wy^{-1}z) & g_2(u,t) = u+wt \\ h_1(x,y,z) = y+wz & h_2(u,t) = t \\ k(x,y,z) = z & \end{array}$$

Therefore, by the application of our theorem, we get the following result involving Laguerre polynomials.

Theorem-2: If

$$G(x, u, w) = \sum_{n=0}^{\infty} a_n L_{n+r}^{(\alpha)}(x) L_m^{(n+r)}(u) w^n,$$

then

$$\begin{aligned} & \exp\left[-w(1+x)\right] \left(1+w\right)^{\alpha} G\left(x(1+w), u+w, uw\right) \\ &= \sum_{n=0}^{\infty} \sum_{p=0}^{\infty} \sum_{q=0}^{\infty} a_n v^n \frac{w^{p+q+n}}{p! q!} (r+n+1)_p (-1)^q L_{n+r+p}^{(\alpha-p)}(x) L_m^{(n+r+q)}(u), \end{aligned}$$

which is found derived in [10].

Cor-2: If we put $r=0$, in the above theorem we get the result found derived in [7,11].

Special Case-1: If, in the above theorem, we put $m=0$ we get a novel extension of the bilateral generating function of Laguerre polynomials found derived in [12].

3.2. **Bessel Polynomials.** We now take

$$\begin{aligned} p_{n+r}^{(\alpha)}(x) &= Y_{n+r}^{(\alpha)}(x) \\ q_m^{(n+r)}(u) &= Y_m^{(n+r)}(u) \end{aligned}$$

Then from [13,14], we notice that

$$\begin{aligned} R_1 &= x^2 y^{-1} z \frac{\partial}{\partial x} + x z \frac{\partial}{\partial y} + x y^{-1} z^2 \frac{\partial}{\partial z} + (\beta + r x - x) y^{-1} z \\ R_2 &= u t \frac{\partial}{\partial u} + t^2 \frac{\partial}{\partial t} + (m + r - 1) t \\ C'_{n,r} &= \beta & C''_{n,r} &= (m + n + r - 1) \\ \Omega'_r(x, y, z) &= (1 - w x y^{-1} z)^{1-r} \exp(\beta w y^{-1} z) & \Omega''_r(u, t) &= (1 - w t)^{1-m-r} \\ g_1(x, y, z) &= \frac{x}{(1 - w x y^{-1} z)} & g_2(u, t) &= \frac{u}{(1 - w t)} \\ h_1(x, y, z) &= \frac{y}{(1 - w x y^{-1} z)} & h_2(u, t) &= \frac{t}{(1 - w t)} \\ k(x, y, z) &= \frac{z}{(1 - w x y^{-1} z)} \end{aligned}$$

Then, by the application of our theorem-1, we get the following result involving generalized Bessel polynomials.

Theorem-3: If

$$G(x, u, w) = \sum_{n=0}^{\infty} a_n Y_{n+r}^{(\alpha)}(x) Y_m^{(n+r)}(u) w^n,$$

then

$$\begin{aligned} & \exp(\beta w) \left(1 - w\right)^{1-m-r} \left(1 - w x\right)^{1-\alpha} G\left(\frac{x}{1 - w x}, \frac{u}{1 - w}, \frac{w v}{(1 - w x)(1 - w)}\right) \\ &= \sum_{n=0}^{\infty} \sum_{p=0}^{\infty} \sum_{q=0}^{\infty} a_n v^n \frac{w^{p+q+n}}{p! q!} \beta^p (m + n + r - 1)_q Y_{n+r+p}^{(\alpha-p)}(x) Y_m^{(n+r+q)}(u), \end{aligned}$$

which is found derived in [15].

Cor-3: If we put $r=0$ in the above theorem, we get the result found derived in [7]

Special Case-2: If, in the above theorem, we put $m=0$ we get the result found derived in [12].

3.3. **Gegenbauer polynomials.** We now take

$$\begin{aligned} p_{n+r}^{(\alpha)}(x) &= C_{n+r}^{(\lambda)}(x) \\ q_m^{(n+r)}(u) &= C_m^{(n+r)}(u) \end{aligned}$$

then from [16,17]

$$\begin{aligned} R_1 &= (x^2 - 1) y^{-1} z \frac{\partial}{\partial x} + 2 x z \frac{\partial}{\partial y} - x y^{-1} z \\ C'_{n,r} &= \frac{(n+r+2\lambda-1)(n+r+1)}{2(\lambda-1)} & R_2 &= u t \frac{\partial}{\partial u} + 2 t^2 \frac{\partial}{\partial t} + (m + 2r) t \\ \Omega'_r(x, y, z) &= \{1 + 2 w x y^{-1} z + (x^2 - 1) w^2 y^{-2} z^2\}^{-\frac{1}{2}} & C''_{n,r} &= 2(n + r) \\ g_1(x, y, z) &= x + w(x^2 - 1) y^{-1} z & \Omega''_r(u, t) &= (1 - 2 w t)^{-\frac{m}{2} - r} \\ h_1(x, y, z) &= y \{1 + 2 w x y^{-1} z + (x^2 - 1) w^2 y^{-2} z^2\} & g_2(u, t) &= \frac{u}{\sqrt{1 - 2 w t}} \\ k(x, y, z) &= z & h_2(u, t) &= \frac{t}{\sqrt{1 - 2 w t}} \end{aligned}$$

Then by the application of our theorem, we get the following result involving Gegenbauer polynomials.

Theorem-4: If

$$G(x, u, w) = \sum_{n=0}^{\infty} a_n C_{n+r}^{(\lambda)}(x) C_m^{(n+r)}(u) w^n,$$

then

$$\begin{aligned} & \left\{ 1+2wx+(x^2-1)w^2 \right\}^{-\frac{1}{2}+\lambda} \left(1-2w \right)^{-\frac{m}{2}-r} G \left(x+w(x^2-1), \frac{u}{\sqrt{1-2w}}, \frac{wv}{1-zw} \right) \\ &= \sum_{n=0}^{\infty} \sum_{p=0}^{\infty} \sum_{q=0}^{\infty} a_n v^n \frac{w^{p+q+n}}{p! q!} \frac{(-n-2\lambda-r+1)_p (n+r+1)_p}{2^p (1-\lambda)_p} 2^q (n+r)_q C_{n+r+p}^{(\lambda-p)}(x) C_m^{n+r+q}(u), \end{aligned}$$

which is found derived in [18].

Cor-4: If we put $r=0$ in the above theorem, we get the result on quasi-bilateral generating relation found derived in [7].

Special Case-3: If, in the above corollary, we put $m=0$ we get the result found derived in [4].

3.4. Jacobi Polynomials. Now we take

$$\begin{aligned} p_{n+r}^{(\alpha)}(x) &= P_{n+r}^{(k_1, \alpha)}(x) \\ q_m^{(n+r)}(u) &= P_m^{(k_1, n+r)}(u) \end{aligned}$$

Then from [13,19] we get

$$\begin{aligned} R_1 &= (1-x^2)y^{-1}z \frac{\partial}{\partial x} + (1-x)z \frac{\partial}{\partial y} - (1+x)y^{-1}z^2 \frac{\partial}{\partial z} - (1+k_1+r)(1+x)y^{-1}z \\ R_2 &= (1-u)t \frac{\partial}{\partial u} - t^2 \frac{\partial}{\partial t} - (1+n+k_1+m+r)t \\ C'_{n,r} &= -2(n+r+1) & C''_{n,r} &= -(1+k_1+n+m+r) \\ \Omega'_r(x, y, z) &= \left\{ 1+w(1+x)y^{-1}z \right\}^{-1-k_1-r} & \Omega''_r(u, t) &= (1+wt)^{-k_1-m-r-1} \\ g_1(x, y, z) &= \frac{x+w(1+x)y^{-1}z}{1+w(1+x)y^{-1}z} & g_2(u, t) &= \frac{u+tw}{1+tw} \\ h_1(x, y, z) &= \frac{y(1+2wy^{-1}z)}{1+w(1+x)y^{-1}z} & h_2(u, t) &= \frac{t}{1+tw} \\ k(x, y, z) &= \frac{z}{1+w(1+x)y^{-1}z}. \end{aligned}$$

Therefore by the application of our theorem, we get the following result on partial quasi-bilateral generating functions involving Jacobi polynomials.

Theorem-5: If

$$G(x, u, w) = \sum_{n=0}^{\infty} a_n P_{n+r}^{(k_1, \alpha)}(x) P_m^{(k_1, n+r)}(u) w^n,$$

then

$$\begin{aligned}
& \left\{ 1 + w(1+x) \right\}^{-1-k_1-\alpha-r} \left(1+w \right)^{-1-k_1-m-r} \left(1+2w \right)^\alpha \\
& \quad \times G \left(\frac{x+w(1+x)}{1+w(1+x)}, \frac{u+w}{1+w}, \frac{wv}{(1+w)\{1+w(1+x)\}} \right) \\
& = \sum_{n=0}^{\infty} \sum_{p=0}^{\infty} \sum_{q=0}^{\infty} a_n v^n \frac{w^{p+q+n}}{p! q!} (-2)^p (n+r+1)_p (-1)^q (1+k_1+m+n+r)_q P_{n+r+p}^{(k_1, \alpha-p)}(x) P_m^{(k_1, n+r+q)}(u),
\end{aligned}$$

which also does not seem to have appeared in the earlier works.

Cor-5: If we put $r=0$ in the above theorem, we get the result found derived in [7].

Special Case-4: If, in the above theorem, we put $m=0$, we get the result found derived in [12].

If in place of R_1, R_2 we take the following two operators from [8,19]:

$$\begin{aligned}
R'_1 &= (1-x^2)y^{-1}z \frac{\partial}{\partial x} - (1-x)z \frac{\partial}{\partial y} + (1-x)y^{-1}z^2 + (1+\beta+r)(1-x)y^{-1}z \\
R'_2 &= (1+u)t \frac{\partial}{\partial u} + t^2 \frac{\partial}{\partial t} + (1+m+\beta+r)t
\end{aligned}$$

Then we have,

$$\begin{aligned}
C'_{n,r} &= -2(n+r+1) & C''_{n,r} &= (1+\beta+n+m+r) \\
\Omega'_r(x, y, z) &= \left\{ 1+w(x-1)y^{-1}z \right\}^{-1-\beta-r} & \Omega''_r(u, t) &= (1-wt)^{-(1+m+\beta+r)} \\
g_1(x, y, z) &= \frac{x-w(x-1)y^{-1}z}{1+w(x-1)y^{-1}z} & g_2(u, t) &= \frac{u+wt}{1-wt} \\
h_1(x, y, z) &= \frac{y(1-2wy^{-1}z)}{1+w(x-1)y^{-1}z} & h_2(u, t) &= \frac{t}{1-wt} \\
k(x, y, z) &= \frac{z}{1+w(x-1)y^{-1}z}
\end{aligned}$$

Then by the application of our theorem, we get the following analogous result on partial quasi-bilateral generating relation involving Jacobi polynomials:

Theorem-6: If

$$G(x, u, w) = \sum_{n=0}^{\infty} a_n P_{n+r}^{(\alpha, \beta)}(x) P_m^{(n+r, \beta)}(u) w^n$$

then

$$\begin{aligned}
& \left\{ 1+w(x-1) \right\}^{-(1+\beta+r)} \left(1-w \right)^{-(1+m+\beta+r)} \left\{ \frac{1-2w}{1+w(x-1)} \right\}^\alpha \\
& \quad \times G \left(\frac{x-w(x-1)}{1+w(x-1)}, \frac{u+w}{1-w}, \frac{wv}{(1-w)\{1+w(x-1)\}} \right) \\
& = \sum_{n=0}^{\infty} \sum_{p=0}^{\infty} \sum_{q=0}^{\infty} a_n v^n \frac{w^{p+q+n}}{p! q!} (-2)^p (n+r+1)_p (1+\beta+m+n+r)_q P_{n+r+p}^{(\alpha-p, \beta)}(x) P_m^{(n+r+q, \beta)}(u),
\end{aligned}$$

which is found derived in [20].

Cor-6: If we put $r=0$ in the above theorem, we get the result found derived in [7].

Special Case-5: If, in the above theorem, we put $m=0$, we get the result found derived in [12].

4. CONCLUSIONS:

From the above discussion, it is clear that one may apply theorem-1 in the case of other polynomials and functions existing in the field of special functions to obtain the partial quasi-bilinear (or bilateral) generating functions involving the special function(s) under consideration subject to the condition of construction of one parameter continuous transformations group for the said special function(s). Furthermore, one may observe that the main result obtained in this paper is the most general form of the extension of the quasi-bilateral generating function involving $p_n^{(\alpha)}(x)$, $q_m^{(n)}(u)$ from the existence of a partial quasi-bilateral (or quasi-bilinear) generating function. This quasi-bilateral generating function involving $p_n^{(\alpha)}(x)$, $q_m^{(n)}(u)$ is nothing but an extension of the bilateral generating function involving $p_n^{(\alpha)}(x)$. It may be pointed out that this extension is not unique because of the fact that when $q_m^{(n)}(u)$ is different from $p_m^{(n)}(u)$, the extension of the bilateral generating function is also different. In fact, when $q_m^{(n)}(u) = p_m^{(n)}(u)$, the extension of bilateral generating relation is quasi-bilinear. When $q_m^{(n)}(u)$ is different from $p_m^{(n)}(u)$, the extension is quasi-bilateral.

REFERENCES

- [1] A. K. Mondal, *A unified group-theoretic method of obtaining a more general class of generating relations from a given class of partial quasi-bilateral (or partial quasilinear) generating relations involving some special functions*, Pure Math. Manuscript **10**(1992-93), 121–132.
- [2] R. Sharma and A. K. Chongdar, *Some generating functions of Laguerre polynomials from Lie Group view point*, Bull. Cal. Math. Soc., **82**(1990), 527–532.
- [3] A. K. Chongdar, *On generating functions of generalised Bessel polynomials*, Kobe. Jour. Math. **5**(1988), 151–154.
- [4] A. K. Chongdar, *A group-theoretic study of certain generating functions for Gegenbauer polynomials*, Orissa Math. Jour. **2** (1983), 71–85.
- [5] A. K. Chongdar, *On bilateral generating functions, to appear in Bull. Cal. Math. Soc.*
- [6] S. Das, *On partial differential operator for Jacobi polynomials*, Pure Math. Manuscript, **3**(1984), 95–104.
- [7] A. K. Chongdar, *Unified theory of obtaining a more general class of generating relations from a given class of quasi-bilateral generating relations involving some special functions by group-theoretic method*, Rev. Acad. Carnar. Cienc, **XI(1-2)** (1999), 111–121.
- [8] A. K. Chongdar and S. Alam, *An extension of a result on the Unification of a class of mixed trilateral generating relations for certain special functions*, J. Tech, **XXXX**(2008), 31–44.
- [9] A. K. Mondal, *On different raising operators for some classical orthogonal polynomials*, Pure Math. Manuscript, **10**(1992-93), 63–72.
- [10] M. C. Murkherjee, *On partial quasi-bilateral generating functions involving Laguerre polynomials*, Rev. Academic de Ciencias, Zaragoza **56**(2001), 49–52.
- [11] A. B. Majumder, *Some generating functions of Laguerre polynomials*, J. Ramanujan Math. Soc. **10(2)** (1995), 195–199.
- [12] A. K. Chongdar and S. K. Pan, *On a class of bilateral generating functions*, Simon Stervin, **66** (1992), 207–220.
- [13] P. K. Maity, *On mixed trilateral generating functions*, Bull. Cal. Math. Soc., **99(1)** (2007), 21–26.

- [14] S. K. Pan and A. K. Chongdar, *On the extensions of mixed trilateral generating functions for certain special functions*, Ind. Jour. Theo. Phy., **14(1)** (1996), 77–84.
- [15] M. C. Mukherjee, *On partial quasi-bilateral generating function involving Bessel polynomial*, Rev.Acard.Carnar.Cienc. **XIII(1-2)** (2001), 55–58.
- [16] A. B. Majumdar, *On trilateral generating functions of Gegenbauer polynomials*, Bull. Cal. Math.Soc. **87**(1995), 449–452.
- [17] A. K. Mondal, *Partial quasibilateral generating function involving Hermite and Gegenbauer polynomials*, Pure-Math. Manuscript,**10** (1992-1993), 81–87.
- [18] A. Das and A. K. Chongdar, *On partial quasi-bilateral generating functions involving Gegenbauer polynomials*, Rev. Acard.Carnar. Cienc, **XVIII(1-2)**(2006), 71–78.
- [19] A. Das, *Application of group theory in the study of some problems on generating functions for certain special functions*, Ph.D. thesis(2011), C.U.
- [20] A. K. Chongdar and P. K. Maity, *On partial quasi-bilinear generating function involving Jacobi polynomials* , Jour.Cal.Math.Soc.**7(2)**(2011), 97–104.

AUTHOR 1

SREE VIDYANIKETAN, 9A, J. M. AVENUE, KOLKATA - 700006

AUTHOR 2

DEPARTMENT OF MATHEMATICS, BENGAL ENGINEERING AND SCIENCE UNIVERSITY, SHIBPUR

P.O. BOTANIC GARDEN, HOWRAH - 711 103, INDIA

E-mail address: salam50in@yahoo.co.in

AUTHOR 3

DEPARTMENT OF MATHEMATICS, BENGAL ENGINEERING AND SCIENCE UNIVERSITY, SHIBPUR

P.O. BOTANIC GARDEN, HOWRAH - 711 103, INDIA

E-mail address: chongdarmath@yahoo.co.in